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STENBEI—NBER, BRMERNSNES (list, list2) , TUESHKHlist2ehflist1 AR
FRMTEA s, RIS,

list1 = [{"userld": null,"userName": "a"},
{"userld": null,"userName": "b"}]

list2 = [{"userld": null,"userName": "c"},
{"userld": null,"userName": "d"},
{"userld": null,"userName": "a"}]

1. WEREILLER

List<SysUser> list1_ = new ArrayList<>();
list1 _.addAll(list1);
for (SysUser user?2 : list2) {
inti =0;
for (i < list1 .size(); i++) {
if (user2.getUserName().equals(list1_.get(i).getUserName())) {
// WNREFE, BRHAERBR
break;
}

}
if (i >=list1 .size()) {
list1.add(user?2);
}
}

2. fEFAMapiBhttiR

/'k*
* @param list1
* @param list2
* @return
*/
private static List<SysUser> getDifferent(List<SysUser> list1, List<SysUser> list2) {
List<SysUser> diff = new ArrayList<>();
Map<SysUser,Integer> map = new HashMap <> (list2.size());
/] FeBlist1hiTTERM A map. ARITTENIES
for (SysUser stu : list1) {
map.put(stu, 1);
diff.add(stu);

}
for (SysUser stu : list2) {

// ARG EIst1RRTER, MARRTTERES
if(map.get(stu)==null)
{

diff.add(stu);
}

return diff;

}
3. {§stream

// Mlist2ehimig it list 198 B TR
List<SysUser> diff = list2.stream().filter(
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user2 -> llist1.stream().map(user1 -> user1.getUserName()).collect(Collectors.joining()).c

ntains(user2.getUserName()))
.collect(Collectors.toList());
list1.addAll(diff);
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